FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
LA GRANGE REDWOOD LOUNGER

SINGLE




"uss sued syl UO paydeuw SJaguinu ay) 0] Yorew Jou op 8say ] AJuo a2uaJajal 10} aJe J[qeL sexog Jo JUaIU0D) ayl Ul Siaquinu Jied 910N

1SalWly

g-sba

Ji

v-sba]

Wiy

Jeas

1sa1y08g

‘ON

Buimeaq

uondiiosag

‘1O

S3X04d 40 LNJLNOD

Pl 1

LA GRANGE REDWOOD LOUNGER - SINGLE

www.ForeverRedwood.com



*9z1S uo Buipuadap Area [|Im arempaey anoA Jo suolsuswiq 810N

\ NRARERRRRRANRRRRRANANRRNNRANRRARANSNN

“(1saxj0RQ BY1 01 pUB
1885 8y 01 B3| aY1 pue SWiLi 3y} Yyoene o)
s1109 .19 X ..8/€

_\ RENSNRRRRRRREN

"(1sa1x0eq
31 01 pue 1e3s 8y} 03 SWILL Y1 yoene 0] )
siogd .. % ¢ X ..9T/S

“(183S 8 01 SWLIR 8U) YdeNe 0 / '1S3J30eq
8y} 0] pue 1Bas 8y 01 SWL) Y1 ydene o)
slog .. #a v X .91/

*(1eas 8y 011524308 8y} Yyoene 0])
sljod .1 € X ,.9T/S

‘ON

Buimeaq

uondiiosag

S3IX04d 40 INJLNOD

P| 2

LA GRANGE REDWOOD LOUNGER - SINGLE

www.ForeverRedwood.com






Step 1: Use 5/16”" x 3 %"” bolts (A) to attach the Backrest (1) to the Seat (2). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

5/16"" X 3 %"" Bolts

Step 2: Attach the trims (3) to the backrest with 5/16" x 4 %%2"" Bolts (B) and 5/16"" X 2 %2 ""(C). Each part has a series of numbers
that indicate where to attach the part with the corresponding number.

L 5/16" X 4 ¥%"" Bolts

5/16" X 2 %" Bolts

P4
LA GRANGE REDWOOD LOUNGER - SINGLE
www.ForeverRedwood.com



Step 3: Attach Legs-A (4) to the Seat with 3/8"" x 6 %2 *" bolts (D). After that, use 3/8"" x 6 %2~ bolts (D) to attach Legs-B (5) to
the Backrest. Each part has a series of numbers that indicate where to attach the part with the corresponding number.

3/8" x6 % " Bolts

3/8" x6 % " Bolts

P|5
LA GRANGE REDWOOD LOUNGER - SINGLE
www.ForeverRedwood.com



Step 4: Finally, use 5/16”" x 4 %2"" bolts (B) to attach the Armrests (6) to the Seat. Each part has a series of numbers that indicate

where to attach the part with the corresponding number.

LA GRANGE REDWOOD LOUNGER - SINGLE
www.ForeverRedwood.com

5/16" X 5 %" Bolts

P| 6



This completes the Lounger assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P|7
LA GRANGE REDWOOD LOUNGER - SINGLE
www.ForeverRedwood.com



